
 

 

A. Choose the Correct Answer: 

1. According to the law of exponents, aᵐ × aⁿ equals: 

a) aᵐ⁺ⁿ     b) aᵐ⁻ⁿ 

c) aᵐⁿ     d) aᵐ/ⁿ 

2. The value of (2³)⁴ is: 

a) 2¹²     b) 2⁷ 

c) 2¹⁶     d) 6³ 

3. According to the law of exponents, (aᵐ)ⁿ = 

a) aᵐ⁻ⁿ     b) aᵐ⁺ⁿ 

c) aᵐⁿ     d) (aⁿ)ᵐ 

4. Which of the following is correct for (ab)ⁿ? 

a) aⁿ + bⁿ    b) aⁿb 

c) aⁿbⁿ     d) (ab)ⁿ⁺¹ 

5. a0 is equal to: 

a) 0     b) 1 

c) a     d) –1 

B. Write the Missing Terms to Complete the Sentences: 

1. aᵐ × aⁿ = a? 

2. (aᵐ)ⁿ = a? 

3. (ab)ᵐ = aᵐ × __________ 

4. a0 = __________ 

5. aᵐ ÷ aⁿ = a? 

C. Figure out the answers to these questions: 

1. Simplify 3² × 3⁴ 

2. Find the value of (5³)² 

3. Simplify (
2

5
)

3

 ×  (
5

2
)

3

 

4. Evaluate (4²)³ 

5. Simplify 
73

72
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D. Mark each sentence with a True (✔) or False (✘): 

1. aᵐ × aⁿ = am+n. _____ 

2. (aᵐ)ⁿ = am+n. _____ 

3. a⁰ = 0. _____ 

4. (ab)ᵐ = aᵐbᵐ. _____ 

5. aᵐ ÷ aⁿ = am–n. _____ 

E. Challenge yourself with these questions: 

1. Find the value of (6³)² 

2. Simplify 
25

23
 

3. Find the value of (
3

4
)

2

 ×  (
4

3
)

2

 

4. Simplify (5²)³ ÷ 5³ 

5. Simplify (x³)² × (x²)³ 

  


